PP 31VI0ED WIZAROS 2.

\50 '\7 Lazer Brains

H w
3 SM=1; };BOX 3,8,42,87,2
5 NT=8;CY=-4@; PRINT * -

18 SM=1;&(8)=83;BC=7;FC=0; &(8)=7;&(1)=7;&(2)=8; &(3)=0;LINE ©0,8,4;W=RND (2);5=2
2

28 BOX 61,22,33,33,1;B0X -61,22,33,33,1;B0X 58,37,1,3,2;B0X -50,37,1,3,2;B0X 4
9,37,1,4,2

38 BOX -43,37,1,4,2;B0X 48,36,1,5,2;B0OX -48, 38 1,5,2;B0X 47,36,1,6,2;B0OX -47,3
6,1,6,2;B0X 46,35, 1 7,2

48 BOX -46,35,1,7,2;BOX 45,32,1,14,2;BOX -45,32,1,14,2

S8 LINE 32,-18, 4‘LINE 38,-8,1;LINE 35,-3,1;LINE 35,32,1;LINE 44,41,1;LINE 73,4
1,1

68 LINE -30, —1. 4 LINE -38,-8,1;LINE -35,-3,1;LINE -35,32,1;LINE ~-44,41,1;LINE

-79,41,1 .

78 LINE 8,0,4

75 R=B8;I=5;L=-R;E=S

82 IF W=1CY=-40;CX=-10;PRINT "#1 UP";GOTO 9B

85 IF W=2CY=-480;CX=-18;PRINT "#2 UP";GOTO 1028

98 NT=5;UW=1;R=R+JX(1);IF ABS(JIX(1)3})=1MU="U*

91 I=I+JY(1):IF ABSCIY(1))=1MU="2Z" \, ‘DE
92 IF (I<5)+(I5>48)I=48

83 IF (R<{34)+(R>733R=34

88 NT=8; If TR(C1)GOTO 588 '
99 GOTO 99 ‘ZHHDS

188 NT=S;W=2;L=L+JX(2);IF ABS(JIX(Z))=1MU="G"

181 E=E+JY(2);IF RBS(JIY(2))=1MU="Q" ()1982
182 IF (E<S)+(E>4B)E=48

183 IF (L<-79)3+(L>-34)L=-34

184 NT=8; IF TR(2)GOTC 7809

185 GOTO 100

S8 LINE -28,-18,4;LINE R,I,1;FOR C=BTO 38;NM=15;NU=255;UC=15; TC=C;NEXT C;¢

5@5 LINE -28,-18,4;LINE R,I,2;FOR N=240T0 OSTEP -16;NM=58;NU=N+40; &(2)=RND (3)b
13+486; &(3)=RND (3)b13+86

518 LINE R+RND (93-9c2-1,I+RND (8)-9c2,2;NEXT N;}; &(2)=8;&(3)=08; T=61;60TO 150C
708 LINE 28,-18,4;LINE L,E,1;FOR C=8TO 38;NM=15;NU=255;UC=15; TC=C;NEXT C;{

795 LINE 28,-18,4;LINE L,E,2;FOR N=249TO BSTEP -16;NM=58;NU=N+48;FC=RND (3)b13+
86 :

710 LINE L+RND (8)-9c2-1,E+RND (9)-Sc2,2;NEXT N;§:FC=0;T=-61;G0TO 15602

1580 CY=-48;CX=-79;PRINT * (CHECKING BRAIN CELLS) ";FOR K=1TO 588;NEXT K

1581 FOR X=T-16T0 T+16;FOR Y=S-16TO S+16

1582 IF PX(X,Y)CY=-48;CX=-73;PRINT " *;GOTO 2860

1595 NEXT Y:;NEXT X

1510 IF W=1GOTO 2880

1528 GOTO 2050
2008 NT=8;CX=48;CY=30; PRINT "LLAZER", ;CX=48;CY=22;PRINT “BRAIN®,;CY=-40;CX=-793;PR

INT * WIZARD #1 WINS! “;GOTO 3088
2059 NT=8;CX=-71;CY=38;PRINT “"LAZER",;CX=-71;CY=22:PRINT °“BRAIN", ;CY=-40;CX=-73;
PRINT * WIZARD #2 WINS! ";GO0TO 3000 ‘

2869 IF W=1W=2;GOTO 88

2078 IF W=2W=1;GO0TO B@

3988 FOR C=BTO 38;NM=15;NU=255;UC=15; TC=C;NEXT C;IF &(23)=1RUN
3881 GOTO 3889

>



